1.2, 3.4-3.6: Solving Equations

12.Tosolve (x —3)(2x —1) = 18

(a) set each factor equal to 18

(b) set each factor equal to 0
@:OIL out the left side

(d) none of the above

13. To solve 8x? = 3x

(a) divide both sides by 3
(b) divide both sides by x

(c) square root both sides

one of the above

12. (x—3)2x—-1) =18 13. 8x2% = 3x D) subbA 3x
2%* _ % —6x +3 = 18 OFoiLont ) 8%*- 2x=0 2
Gcm\osw."t&m\ % ¢ S
4o — =0
2% Fx — 1S =0 o8 * ey gne
(224 2 U=~ §)=0 B=3
2R 4 2=0 o KX~-S=0O

Can we? Should we? YES or NO?
14. (a) To solve (x + 7)%? = 8:
(1) can we FOIL out the left side? Y23

(2) should we FOIL out the left side? 74%@ [

Can we? Should we?

15. To solve p% + (p + 2)? = 100,

solve (b) 2(x + 7)2= 16
(2473 = 3
X+3+=xJg
X==-F*J% = m

KRN

(c)2v2+34=0
v = -3y
vtz -\
vet 3
v=2§3.53

YES or NO?

(1) can we square root each term?

MO/

(2) should we square root both sides?

Solve p% + (p + 2)? = 100
P>+ p*typ+ Y = (00
z2p>+yp—26=0
pZ+2p—HE= O
Cp+&)p-6)=0




Quadratic Formula

~bT | b*- Yac

2.0

fax* + bx+c=0, then | x =

16.Solve 3x> —2x—7 =0 a=3 b=-2 c=-%

.2 £ (2)% 4OX-7)

X

17. Solve (a) 2w3 — 8w? — 24w =0 (b) 2x3 = 32x

7w (w”—cm PIZB =0 2%% 32% =0

2w (W~ ) (ws2)= 0 2% (x>-10) =0

Do NOT divide both sides by x!

[ ~ \ 2R (x-wYX R+4)=0
w=o, gl_?_
l X =04 -

(c) 64x% —4x? = 0 d) (x5 l64)

4x* (16 - x*) =0 K= el

™ (% -%xY 9 +x) =0

e

Practice: PT4, ALEKS PR5

More Practice — Text Exercises: 1.2 #23, 41, 47, 49; 3.4 #13, 19, 25, 31, 41, 45, 51, 53; 3.5 #19; 3.6 #11, 13




4.1-4.2: Rational Expressions

o 3(x-1)2+x(x-1) (x—f)[3 - + Xj -1 x+4  weL %44
18. Simplify (a) 21 = (b) D i = (xyﬁ(x—g . §
=) <+ 0) ™
FIl R
= 2R-3F X = xclc—s)
bl
AT
X+ |

The x+1 does NOT

reduce because it is not

a FACTOR of the top!

(zﬁfﬁ, GL&%A
(P2 _13=-x ()L, x*! _ _a-atud Always leave
(—a)-\bc 3x -~ X Xt X (k1) denominator factored!
- 2%~ 2
T X x4 )
To clear away yT
the inner x4+
denominators,
multiply top and
bottom of overall -
fraction by the
LCD of those
denominators.
//\
, e x—1 4 %l X q (-2
19. Combine and simplify PR e o — 4+ o
XoTxme XX (x-2Xx+0) X x40 (x~2)

We do not need or want 2 factors of x + 1

%=X A+ Ar-%

x(x—iXx+Q

1

%4 2R

Tey 0 ©f
doeww} ©!

Practice: PT3, ALEKS PR6

NCN—ZXR+‘>

More practice — Text Exercises: 4.1 #39, 41, 49, 53, 71, 81, 91, 117; 4.2 #17, 27, 35, 37, 39, 51, 55, 63, 67, 71




